Ch 10 formulas

Confidence Interval Estimate for the Difference Between

the Means of Two Independent Populations
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Paired 1 Test for the Mean Difference

D - up
-SI)
Vn

IstaT (10.3)

Confidence Interval Estimate for the Mean Difference
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Z Test for the Difference Between Two Proportions
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F Test Statistic for Testing the Ratio of Two Variances
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x°* Test for the Difference Between Two Proportions
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Computing the Estimated Overall Proportion for ¢ Groups
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Confid Interval Esti for the Difference Between
Two Proportions
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Computing the Estimated Overall Proportion for
Two Groups
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